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:yfgLo /fhkq 
a]yfgrf]s ufp¤kflnsfåf/f k|sflzt 

v)* 4_ a]yfgrf]s, sfe|] 2077 c;f/ 31 ut], 2077 ;fn 
 

efu 1 
a]yfgrf]s ufp¤kflnsf, sfe|]knf`rf]ssf] 

;"rgf 
a]yfgrf]s ufp¤kflnsfsf] ;efn] agfPsf] tn n]lvP adf]lhdsf] P]g 

;j{;fwf/)fsf] hfgsf/Lsf] nflu k|sfzg ul/Psf] % . 
 

;+jt\ 2077 ;fnsf] P]g g+= 1 

a]yfgrf]s ufpFkflnsfsf] cfly{s P]g, @)&& 
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a]yfgrf]s ufpFkflnsfsf] cfly{s P]g, @)&& 
 

k|dfl0fs/0f ldlt M @)&&÷)#÷#! 
;efaf6 :jLs[t ldlt M @)&&.)#.@& 

k|:tfjgf M  

a]yfgrf]s ufpFkflnsfsf] cfly{s jif{ @)&&÷)&* sf] cy{ ;DaGwL k|:tfjnfO{ sfof{Gjog ug{sf] lgldQ :yfgLo s/ 
tyf z'Ns ;+sng ug]{, 5'6 lbg] tyf cfo ;+sngsf] k|zf;lgs Joj:yf ug{ jf~5gLo ePsf]n], 

g]kfnsf] ;+ljwfgsf] wf/f @@* sf] pkwf/f -@_ sf] clwsf/ k|of]u ul/ :yfgLo ;/sf/ ;~rfng P]g, @)&$ adf]lhd 
a]yfgrf]s ufpFkflnsfsf] ufpF;efn] of] P]g agfPsf] 5 . 

 
!=  ;+lIfKt gfd / k|f/De M -!_ o; P]gsf] gfd æa]yfgrf]s ufpFkflnsfsf] cfly{s P]g, @)&&Æ /x]sf] 5 . 

-@_ of] P]g @)&& ;fn >fj0f ! ut]b]lv a]yfgrf]s ufpFkflnsf If]qdf nfu" x'g]5 . 
@=  ;DklQ s/ M ufpFkflnsf If]qleq cg';"rL -!_ adf]lhd ;DklQ s/÷3/hUuf s/ nufOg] / c;"n pk/ 

ul/g]5 . 
#=  e"ld s/ -dfnkf]t_ M ufpFkflnsf If]qleq cg';"rL -@_ adf]lhd e"ld s/  

-dfnkf]t_ nufOg] / c;"n pk/ ul/g]5 . 
$=  3/ axfn s/ M ufpFkflnsf If]qleq s'g} JolQm jf ;+:yfn] ejg, 3/, k;n, Uof/]h, uf]bfd, 6x/f, 5Kk/, 

hUuf jf kf]v/L k"/} jf cf+lzs tj/n] jxfndf lbPsf]df cg';"rL   -#_ adf]lhd 3/ hUuf axfn s/ 
nufOg] / c;"n pk/ ul/g]5 . 

%= Joj;fo s/ jf btf{ z'Ns M ufpFkflnsf If]qleq Jofkf/, Joj;fo jf ;]jfdf k"FhLut nufgL / cfly{s 
sf/f]af/sf cfwf/df cg';"rL -$_ adf]lhd s/ jf btf{ z'Ns nufOg] / c;"n pk/ ul/g]5 . 

^=  hl8a'6L, sjf8L / hLjhGt' s/ M ufpFkflnsf If]qleq s'g} JolQm jf ;+:yfn] pmg, vf]6f], hl8a'6L, jgs;, 
sjf8L dfn / k|rlnt sfg'gn] lgif]w u/]sf] hLjhGt' jfx]ssf cGo d[t jf dfl/Psf hLjhGt'sf] xf8, l;ª, 
KjfFv, 5fnf h:tf a:t'sf] Joj;flos sf/f]af/ u/]jfkt cg';"rL -%_ adf]lhdsf] s/ nufOg] / c;"n pk/ 
ul/g]5 . 

&=  ;jf/L ;fwg s/ M ufpFkflnsf If]qleq btf{ ePsf ;jf/L ;fwgdf cg';"rL -^_ adf]lhd ;jf/L ;fwg s/ 
nufOg] / c;"n pk/ ul/g]5 . t/, k|b]z sfg'g :jLs[t eO{ ;f] sfg'gdf Joj:yf ePsf] cj:yfdf ;f]lx 
adf]lhd x'g]5 . 

*=  lj1fkg s/ M ufpFkflnsf If]qleq x'g] lj1fkgdf cg';"rL -&_ adf]lhd lj1fkg s/ nufOg] / c;"n pk/ 
ul/g]5 . t/, k|b]z sfg'g :jLs[t eO{ ;f] sfg'gdf cGoyf Joj:yf ePsf] cj:yfdf ;f]lx adf]lhd x'g]5 . 

(=  dgf]/Ghg s/ M ufpFkflnsf If]qleq x'g] dgf]/Ghg Joj;fo ;]jfdf cg';"rL -*_ adf]lhd Joj;fo s/ 
nufOg] / c;"n pk/ ul/g]5 . t/, k|b]z sfg'g :jLs[t eO{ ;f] sfg'gdf cGoyf Joj:yf ePsf] cj:yfdf 
;f]xL adf]lhd x'g]5 . 

!)= axfn la6f}/L z'Ns M ufpFkflnsf If]qleq x'g] cfkm"n] lgdf{0f, /]vb]v jf ;+rfng u/]sf  cg';"rL -(_ df 
pNn]v eP cg';f/ xf6 ahf/ jf k;ndf ;f]xL cg';"rLdf ePsf] Joj:yf cg';f/ axfn lj6f}/L z'Ns 
nufOg] / c;"n pk/ ul/g]5 . 

!!=  kfls{ª z'Ns M ufpFkflnsf If]qleq s'g} ;jf/L ;fwgnfO{ kfls{ª pknAw u/fP afkt cg';"rL -!)_ adf]lhd 
kfls{ª z'Ns nufOg] / c;"n pk/ ul/g]5 . 

!@=  6«]lsª, sf]of]ls8, Sofgf]OË, aGhL hlDkË, lhkkm\nfo/ / ¥ofkm\6LË z'Ns M ufpFkflnsfn] cfkm\gf] If]qleq 
6«]lsª, sf]of]ls8, Sofgf]OË, aGhL hlDkË, lhkkm\nfo/ / ¥ofkm\6LË ;]jf jf Joj;fo ;+rfng u/]jfkt 
cg';"rL -!!_ adf]lhd z'Ns nufOg] / c;"n pk/     ul/g]5 . 

!#=  ;]jf z'Ns, b:t'/ M ufpFkflnsfn] lgdf{0f, ;+rfng jf Joj:yfkg u/]sf cg';"rL -!@_ df plNnlvt :yfgLo 
k"jf{wf/ / pknAw u/fOPsf] ;]jfdf ;]jfu|fxLaf6 ;f]xL cg';"rLdf Joj:yf eP cg';f/ z'Ns nufOg] / c;"n 
pk/ ul/g]5 . 

!$=  ko{6g z'Ns M ufpFkflnsfn] cfgf] If]qleq k|j]z ug]{ ko{6sx?af6 cg';"rL -!#_ df plNnlvt b/df ko{6g 
z'Ns nufOg] / c;"n pk/ ul/g]5 . t/, k|b]z sfg'g :jLs[t eO{ ;f] sfg'gdf cGoyf Joj:yf ePsf] 
cj:yfdf ;f]lx adf]lhd x'g]5 . 
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!%= vfgLhGo j:t'sf] ;+sng tyf lgsf;L s/ M ufpFkflnsfn] ufpFkflnsf If]qleq ;+sng, laqmL tyf lgsf;L 
ul/g] vfgLhGo j:t'sf] s/ cg';"rL -!$_ adf]lhd x'g]5 . 

!^=  s/ 5'6 M -!_ o; P]g adf]lhd s/ ltg]{ bfloTj ePsf JolQm jf ;+:yfx?nfO{ s'g}klg lsl;dsf] s/ 5'6 
lbOg] 5}g .  

 -@_ pkbkmf -!_ df h];'s} n]lvPsf] ePtfklg 7]Ssf aGbf]a:tsf] dfWodaf6 ;+sng ubf{sf] avt s'g} 
c;fdfGo Pj+ ljifd kl/l:ylt, aGb x8\tfn nufotsf sf/0f s/ ;+sng sfo{df cj/f]w eO{ /fh:j ;+sng 
x'g g;s]df ufpF ;efsf] lg0f{oaf6 ;DalGwt s/ ;+sng ug{ ;Demf}tf ePsf] kIfnfO{ s/ 5'6 jf ldgfxf 
ug{ cfjZos lg0f{o lng ;lsg]5 . o; cl3 ufpFkflnsfn] u/]sf s/ 5'6 tyf ldgfxf ;DaGwL lg0f{ox? 
o;} P]g adf]lhd ePsf] dflgg]5 . 

!&=  s/ tyf ;+sng ;DaGwL sfo{ljwL M of] P]gdf ePsf] Joj:yf cg';f/ s/ tyf z'Ns ;+sng ;DaGwL 
sfo{ljwL ufpFkflnsfn] tf]s] cg';f/ x'g]5 . 

cg';"rL – ! 
-bkmf @ ;Fu ;DalGwt_ 

ufpFkflnsfn] nufpg] ;DklQ s/ 
!= ;DktL s/ / hUufsf] d"Nof+sg 
!=! ;DklQ s/ b/ -?=_ 

s= ?= ! b]lv # nfv ;Dd jflif{s 100.00 
v= ?= # nfv ! b]lv % nfv ;Dd  jflif{s 200.00 
u= ?= % nfv ! b]lv !) nfv ;Dd  jflif{s 300.00 
3= ?= !) nfv ! b]lv !% nfv ;Dd  jflif{s 500.00 
ª= ?= !% nfv ! b]lv @) nfv ;Dd  jflif{s 750.00 
r= ?= @) nfv ! b]lv #) nfv ;Dd  jflif{s 1,000.00 
5= ?= #) nfv ! b]lv $) nfv ;Dd  jflif{s 1,500.00 
h= ?= $) nfv ! b]lv %) nfv ;Dd  jflif{s 2,000.00 
em= ?= %) nfv ! b]lv ! s/f]8 ;Dd  

-?= @))) b]lv %))) ;Dd_ 
jflif{s 3,500.00 

`= ?= ! s/f]8 eGbf dfly k|lt xhf/ ! ?k}ofsf] 
b/n] 

jflif{s 5,000.00 

!=@ hUufsf] d"Nof+sg 
s= lkr af6f]n] 5f]Psf]  v]tx? k|lt /f]kgL jflif{s bz nfv 
v= j8f hf]8\g] af6f]n] 5f]Psf] v]tx? k|lt /f]kgL jflif{s 5 nfv 
u= sRrL af6f]n] 5f]Psf]  v]tx? k|lt /f]kgL jflif{s rf/ nfv 
3= af6f]n] g5f]Psf]  v]tx? k|lt /f]kgL jflif{s tLg nfv 
ª= lkraf6f]n] 5f]Psf]  af/Lx? k|lt /f]kgL jflif{s kfr nfv 
r= j8f hf]8\g] af6f]n] 5f]Psf] af/Lx? k|lt /f]kgL jflif{s tLg nfv 
5= sRrL af6f]n] 5f]Psf]  af/Lx? k|lt /f]kgL jflif{s b'O{ nfv krf; 

xhf/ 
h= af6f]n] g5f]Psf]  af/Lx? k|lt /f]kgL jflif{s Ps nfv krf; 

xhf/ 
em= kfvf], v/ af/L k|lt/f]kgL jflif{s Ps nfv 

cg';"rL – @ 
-bkmf # ;Fu ;DalGwt_ 

ufpFkflnsfn] nufpg] e"ld s/ -dfnkf]t_ 

@= e"ld s/ -dfnkf]t_ 
2=1   v]tx? k|lt /f]kgL jflif{s 15.00 
2=2   af/L k|lt /f]kgL jflif{s 10.00 
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2=3  rfxf/ -kfvf_ k|lt /f]kgL jflif{s 5.00 
cg';"rL – # 

-bkmf $ ;Fu ;DalGwt_ 
ufpFkflnsfn] nufpg] 3/ axfn s/ 

#= 3/ axfn s/ 

3=1   3/ axfn s/  jflif{s  10 
cg';"rL – $ 

-bkmf % ;Fu ;DalGwt_ 
ufpFkflnsfn] nufpg] Joj;fo s/ jf btf{ z'Ns 

$= Joj;fo s/ tyf btf{ z'Ns 
4=1 Jofkfl/s j:t' 
  s= r'/f]6 /S;L ;d]tsf] v'b|f k;nx? jflif{s 4,000.00 
  v= r'/f]6 /S;L ;d]tsf] yf]s k;nx? jflif{s 5,000.00 
  u= dlGb/ kl/;/df km"nkftL / cGo ;fdfg laqmL jflif{s 500.00 
  3= uxgf -Hj]n/L_ k;n jflif{s 2,000.00 
  ª= lel8of] Sof;]6 k;n -/]s8{/ ty Kn]o/_ 
  != ?= !,)),))).)) ;Dd kF"hL ePsf] jflif{s 1000.00 
  @= ?= @,)),))).)) ;Dd kF"hL ePsf] jflif{s 2,000.00 
  #= ?= @,)),))).)) eGbf dfly kF"hL ePsf] jflif{s 4,000.00 
  r= lgdf{0f ;fdfu|L laqm]tf  
  != ? !,)),))).)) ;Dd kF"hL ePsf] jflif{s 1000.00 
  @= ? #,)),))).)) ;Dd kF"hL ePsf] jflif{s 2,000.00 
  #= ? %,)),))).)) ;Dd kF"hL ePsf] jflif{s 3,000.00 
  $= ? %,)),))).)) eGbf dfly kF"hL ePsf] jflif{s 6,000.00 
  5= sDKo"6/, ljB't ;fdfg, Sofd]/f, 6]lnlehg dd{t, sfk]{6 k;n cflbdf  
  != ? !,)),))).)) ;Dd kF"hL ePsf] jflif{s 1000.00 
  @= ? @,%),))).)) ;Dd kF"hL ePsf] jflif{s 2,000.00 
  #= ? @,%),))).)) eGbf dfly kF"hL ePsf] jflif{s 3,000.00 
  h= /]l8of] dd{t tyf laqmL  jflif{s 1,000.00 
  em= k]6«f]lnod kbfy{ yf]s -k]6f]n kDk_ jflif{s 1,00,000.00 
  6= b}lgs vfB ;fdfu|L v'b|f 
  != ? !,)),))).)) ;Dd kF"hL ePsf] jflif{s 1000.00 
  @= ? #,)),))).)) ;Dd kF"hL ePsf] jflif{s 1500.00 
  #= ? #,)),))).)) eGbf dfly kF"hL ePsf] jflif{s 3,000.00 
  7= sk8f tyf /]l8d]8 ;d]t -v'b|f / yf]s b'j}_ 
  != ? !,)),))).)) ;Dd kF"hL ePsf] jflif{s 1,000.00 
  @= ? #,)),))).)) ;Dd kF"hL ePsf] jflif{s 1,500.00 
  

#= ? #,)),))).)) eGbf dfly kF"hL ePsf] jflif{s 3,000.00 
4=2 ljz]if1 k/fdz{ tyf cGo Joj;flos k]zfdf 
  s= :jLs[t lrlsT;s jflif{s 2,000.00 
  v= slj/fh jflif{s 1000.00 
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  u= O{lGhlgo/ sfplG;ndf btf{ ePsf] 
O{lGhlgo/nfO{ k6s] b:t'/ 

jflif{s 5,000.00 

  3= sfg'g Joj;foL jflif{s 5000.00 
  ª= n]vf k/LIfs jflif{s 2000.00 
  r= bGt lrlsT;s jflif{s 5,000.00 
  5= cg';Gwfgstf{ / k/fdz{bftf jflif{s 5000.00 
  h= cf]e/l;o/ jflif{s 2,000.00 
  em= aLdf Ph]G6 jflif{s 1,500.00 
  `= ;e]{o/ jflif{s 2,500.00 
  6= cg'jfbs jflif{s 1000.00 
  7= kz' lrlsT;s jflif{s 3,000.00 
  8= z]o/ bnfn jflif{s 5000.00 
  9= ;fdfg 9'jfgLstf{ tyf sDkgL jflif{s 3,000.00 
  0f= ;+:yfut k]G6/ jflif{s 5,000.00 
  t= ejg 3/ lgdf{0f ug]{ JolQm -7]s]bf/_  JolQm 6,000.00 
  y= hUuf KnflgË, Knl6Ë  /f]kgL 10,000.00 
4=3 lgdf{0f Joj;fo btf{ -uf=kf= If]qleq 7]ufgf ePsf_ 
  s= s ju{ jflif{s 25,000.00 
  v= v ju{ jflif{s 20,000.00 
  u= u ju{ jflif{s 15000.00 
  3= 3 ju{  10,000.00 

gljs/0f tyf Ohfhtkq k|ltlnkLsf] xsdf 
btf{ z'Nssf] %) Ü /sd nfUg]5 . t/ 
gjLs/0fsf] Dofb gf3]sf] xsdf btf{ z'Ns 
a/fa/s} z'Ns nfUg]5 . 

4=4 pTkfbgd"ns pBf]u 

  s= % cZj zlQm ;Dd Ifdtf ePsf] jflif{s 2,000.00 
  v= & cZj zlQm ;Dd Ifdtf ePsf] jflif{s 4,000.00 
  u= !) cZj zlQm ;Dd Ifdtf ePsf] jflif{s 5,000.00 
  3= !% cZj zlQm ;Dd Ifdtf ePsf] jflif{s 6,000.00 
  ª= !% cZj zlQm eGbf dfly Ifdtf ePsf] jflif{s 7,000.00 

4=5 phf{d"ns pBf]u 

  s= uf]a/UofF; pBf]u jflif{s 2,000.00 
  v= ;f]nf/  jflif{s 2,000.00 
  u= cGo phf{d"ns pBf]u jflif{s 2,000.00 
4=6 s[lif tyf jGo pBf]u 

  s= s'v'/f kfng pBf]u 
  1= !))) ;Dd rNnf /fVg] jflif{s 2,000.00 
  2= !))) b]lv #))) ;Dd rNnf /fVg] jflif{s 3,000.00 
  3= #))) b]lv %))) ;Dd rNnf /fVg] jflif{s 4,000.00 
  4= %))) eGbf dfly rNnf /fVg] jflif{s 5,000.00 
  5= x\ofr/L ;d]t ePsf] kf]N6«L kmd{ jflif{s 100,000.00 
  v= kmlg{r/ pBf]u 
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  1= ;–ldn  jflif{s 5,000.00 
  2= ;–ldn 6«nL ;lxtsf] jflif{s 6,000.00 
  3= ;–ldn gePsf] ;fgf] jflif{s 2,500.00 

  u= s'6gL, lk;gL / k]nfgL ldn Pp6f d]lzg 
  1= s'6gL, lk;gL / k]nfgL ldn Pp6f d]lzg jflif{s 2,000.00 
  2= k|lt yk Ps d]lzgdf jflif{s 1,000.00 
  3= kz'kfng kmd{ 
  1= a+u'/kfng kmd{ jflif{s 1,000.00 
  2= e}+;L kfng kmd{ jflif{s 1,000.00 
  3= afv|fkfng kmd{ jflif{s 1,000.00 
  4= cGo kz'kfng kmd{ jflif{s 1,000.00 
4=7 vlgh pBf]u 

  s= ;a} k|sf/sf] 7"nf vlgh pBf]u -?= Ps s/f]8 
eGbf dfly nufgL ul/Psf btf{ -/f]8f, 9'+uf, 
afn'jf, :n]6 ;d]t_ gljs/0fsf] xsdf btf{ 
z'Nssf] %)Ü z'Ns lgwf{/0f ul/Psf] . 

jflif{s 200,000.00 

  v= ;a} k|sf/sf] demf}nf vlgh pBf]u btf{ -krf; 
nfv b]lv Ps s/f]8 ;Dd nufgL ul/Psf_ 
gjLs/0fsf] xsdf btf{ z'Nssf] %)Ü z'Ns 
lgwf{/0f ul/Psf] . -/f]8f, 9'+uf, afn'jf, :n]6 
;d]t_ 

jflif{s 1,00,000.00 

 u= ;a} k|sf/sf] ;fgf vlgh pBf]u btf{ -kRrL; 
nfv b]lv krf; nfv ;Dd nufgL ul/Psf _ 
gljs/0fsf] xsdf btf{ z'Nssf] %)Ü z'Ns 
lgwf{/0f ul/Psf] . -/f]8f, 9'+uf, afn'jf, :n]6 
;d]t_ 

jflif{s 50,000.00 

 3= ;a} k|sf/sf] ;fgf vlgh pBf]u btf{ -kRrL; 
nfv eGbf sd nufgL ul/Psf_ gljs/0fsf] 
xsdf btf{ z'Nssf] %)Ü z'Ns lgwf{/0f 
ul/Psf] . -/f]8f, 9'+uf, afn'jf, :n]6 ;d]t_ 

jflif{s 25,000.00 

4=8 ko{6g pBf]u 

 s= xf]6n tyf l/;f]{6 

  1= æsÆ ju{sf] xf]6]n / l/;f]6{sf] nflu  jflif{s 1,00,000.00 

  2= ævÆ ju{sf] xf]6]n / l/;f]6{sf] nflu  jflif{s 25,000.00 
  3= æuÆ ju{sf] xf]6]n / l/;f]6{sf] nflu  jflif{s 10,000.00 
 4= kf6L{ Kofn]; aflif{s 1,000.00 
 v= ;fgf ko{6g Joj;fo 

  1= /]i6'/]06 jflif{s 5,000.00 
  2= kmf:6km'8, efG5f 3/ jflif{s 3,000.00 
  3= xf]6n P08 nh  jflif{s 5,000.00 
  4= ef]hgfno jflif{s 2,000.00 
 5= xf]d :6] aflif{s 2,000.00 
  6= ld7fO{ k;n jflif{s 500.00 
  7= lrof rd]gf k;n jflif{s 500.00 
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4=9 ;]jf pBf]u 
  s= 5fkfvfgf jflif{s 2500.00 
  v= kmf]6f]u|fkmL  
  1= kmf]6f]u|fkmL dfq ePsf] jflif{s 1,000.00 
  2= sn/Nofa ;d]t ePsf] jflif{s 2,000.00 
  u= rnlrq Joj;fo jflif{s 1,000.00 
  #= ;fj{hlgs kl/jxg Joj;fo jflif{s 1,000.00 
  ~= k|of]uzfnf  jflif{s 2500.00 
  r= lzt e08f/ jflif{s 7,000.00 

  %= cGo ;]jfx? jflif{s 500.00 
  h= 8]/L pBf]u ,b'Uw 8]/L jflif{s 3,000.00 
  em= b'w ;+sng s]Gb| ,b'Uw lr:ofg  jflif{s 2,000.00 
  `f= b'w ;+sng tyf Kofs]lhË jflif{s 6,000.00 
  ^= sjf8L ;+sng s]Gb| jflif{s 3,000.00 
  &= j]lN8ª js{;k jflif{s 6,000.00 
  *= O{lGhlgol/ª js{;k jflif{s 5,000.00 
  (= a8L ljN8/ pBf]u jflif{s 3,000.00 
4=10 lgdf{0f pBf]u 
  s= ;8s, k"n, /f]kj], /]nj], 6«lna;, 6g]n, ˆnfOª 

j[h lgdf{0f ul/ ;~rfng ug]{ pBf]u Joj;fo 
jflif{s 25,000.00 

  v= cf}Bf]lus, Jofkfl/s Pj+ cfjf; sDKn]S; 
lgdf{0f ul/ ;~rfng ug]{ pBf]u Joj;fo 

jflif{s 4,000.00 

  u= ;a} lsl;dsf O+{6f pTkfbg ug]{ pBf]ux? jflif{s 100,000.00 
4=11 ;~rf/ ;]jf 
  s= lghL If]qsf x'nfs ;]jf jflif{s 500.00 
  v= 6]lnkmf]g, ˆofS;, O{d]n, O{G6/g]6 jflif{s 500.00 
  u= P;= l6= l8 / cfO{= P; l8= jflif{s 500.00 
  #= kmf]6f]skL jflif{s 500.00 
  ~= s'l/o/ ;]jf jflif{s 500.00 
  r= 5kfO{ tyf k|sfzg jflif{s 500.00 
  em= cGo ;~rf/sf gofF dfWodx? jflif{s 500.00 
4=12 ljlQo ;]jf 
  s= g]kfn ;/sf/sf k"0f{ :jldTjdf /x]sf afx]ssf 

cfly{s sf/f]jf/ ug]{ jfl0fHo a+}sx? 
jflif{s 10,000.00 

  v= cfly{s sf/f]jf/ ;d]t ug]{ ljQLo sDkgLsf 
d'Vo sfof{no 

jflif{s 7,500.00 

  u= ljQLo sDkgLsf zfvf sfof{no jflif{s 5,000.00 
  #= aLdf sDkgL jflif{s 5,000.00 
  ~= ;xsf/L a}+s -btf{_ jflif{s 5,000.00 
  r= ax'p2]]zLo ;xsf/L ;+:yf -btf{_ jflif{s 5,000.00 
  %= art tyf C0f ;xsf/L ;+:yfx? -btf{_ jflif{s 5,000.00 

h= s[lif ;xsf/L ;+:yf btf{ jflif{s 2000.00 
gJfLs/)fsf] xsdf btf{ z'Nssf] 50 k|ltzt z'Ns nfUg] . 
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4=13 :jf:Yo ;]jf 
  s= u}/;/sf/L c:ktfn÷kf]lnlSnlgs jflif{s 10,000.00 
  v= gl;{Ë xf]d jflif{s 7,500.00 
  u= lSnlgs / Nofj jflif{s 5,000.00 
4=14 lzIff ;]jf 
  s= gLlh If]qsf :s'n 
  1= k|f=lj= / lg=df=lj= tx;Dd jflif{s 5,000.00 
  2= dfWolds tx;Dd jflif{s 10,000.00 
  v= gLlh If]qsf pRr df=lj=, SofDk; / 

ljZjljBfno 
jflif{s 10,000.00 

  u= tflnd tyf cg';Gwfg s]Gb| jflif{s 5,000.00 
  #= 6fO{lkË, sDKo"6/ tyf efiff lzIf0f jflif{s 3,000.00 
  ~= cGt/f{li6«o u};; jflif{s 15,000.00 
  r= /fli6«o u}=;=;= 
  1= /fli6«o :t/Lo jflif{s 10,000.00 
  2= lhNnf :t/Lo jflif{s 7500.00 
  3= ufpFkflnsf :t/Lo jflif{s 5000.00 
4=15 dd{t ;Def/ ;]jf 

  s= x]eL OlSjkd]G6 a;, 6«s, sf/, dd{t js{;k jflif{s 10,000.00 
  v= df]6/;fO{sn / ;fO{sn dd{t js{;k jflif{s 5,000.00 
  u= /]l8of], l6le, 38L, k|];/ s's/ lx6/, 6]lnkmf]g 

;]6 cflb dd{t  
jflif{s 2,000.00 

4=16 cGo ;]jf 
  s= lj1fkg ;]jf jflif{s 2,000.00 
  v= j}b]lzs /f]huf/ ;]jf jflif{s 1,000.00 
  u= :jb]zL /f]huf/ ;]jf jflif{s 5,000.00 
  #= ;]qm]6l/on ;]jf jflif{s 1,000.00 
  ~= xfplhË sDkgL tyf 3/ hUuf v/Lb laqmL  

-l/on :6]6_ 
jflif{s 5,000.00 

  r= Ao'6L kfn{/, s]z >[+uf/, 8«fO{ lSng;{, kmf]6f] 
:6'l8of], l;nfO{ cflb  

jflif{s 1,000.00 

  %= ;fO{gaf]8{ agfpg], k]lG6Ë ;]jf jflif{s 1,000.00 
  h= kz' jwzfnf jflif{s 2,000.00 
  em= df;' laqm]tf jflif{s 1,500.00 
  `f= km"n / la?jf laqm]tf jflif{s 1,000.00 
  ^= k'n xfp; jflif{s 1,500.00 
  &= l;;f KnfO{p8 laqm]tf jflif{s 1,500.00 
 *= lkslgs :k6 aflif{s 2,000.00 
  (= :6Ln, sf7 / kmlg{r/ laqm]tf jflif{s 1,500.00 
  )f= v]nf}gf, pkxf/ ljqm]tf jflif{s 300.00 
  t= e]6l/g/L k;n jflif{s 1,000.00 
  y= s[lif dn lap ljhg k;n jflif{s 1,000.00 
  b= s[lif dn lap lahg k;n ls6gf;s cf}ifwL 

;d]t 
jflif{s 2,000.00 
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  w= s]a'n, g]6jls{Ë -k|lt u|fxs ;+Vofsf] cfwf/df_ jflif{s 20.00 
4=17 cGo Joj;fo 

  s= kfs{ lkslgs :k6 jflif{s 1,000.00 
  v= 6'/ ck/]6/ jflif{s 3,000.00 
  u= d;fh kfn{/ jflif{s 2,000.00 
4=18 c:yfoL xf6ahf/ jf 3'DtL k;n 

  s= 3'DtL k;n, v'Grf ;d]t k6s] 15.00 
  v= rf}kfof k6s] 15.00 
  u= xFf;, s'v'/f cflb k6s] 5.00 
  #= ;fu ;AhL / kmnk"mn k;n k6s] 3.00 
  ~= cGo  k6s] 5.00 
  r= dfly pNn]v ePsf eGbf jfx]ssf] Joj;fox? -s'n k"FhL nufgLsf] 

cfwf/df_ 
  1= ? @),))).)) ;Dd kF"hL ePsf] jflif{s 500.00 
  2= ? !,)),))).)) ;Dd kF"hL ePsf] jflif{s 750.00 
  3= ? @,%),))).)) ;Dd kF"hL ePsf] jflif{s 1,000.00 
  4= ? %,)),))).)) ;Dd kF"hL ePsf] jflif{s 2,000.00 
  5= ? %,)),))).)) eGbf dfly kF"hL ePsf] jflif{s 3,000.00 

cg';"rL – % 
-bkmf ^ ;+Fu ;DalGwt_ 

ufpFkflnsfn] nufpg] hl8a'6L, sjf8L / hLjhGt' s/ 
5= jgs; hl8a'6L 

 s= hl8a'6L, jgs;, sjf8L dfn sf/f]af/ 
u/]afkt k|lt ?=!))) df 

k|ltzt 2.00 

 v= k|rlnt sfg'gn] lgi]fw u/] b]lv afx]s cGo 
d[t hLjhGt'sf] xf8, l;ª, Kjfv, 5fnfdf k|lt 
sf/f]af/ ?= !,))).)) 

k|ltzt 2.00 

 

cg';"rL – ^ 
-bkmf & ;F+u ;DalGwt_ 

ufpFkflnsfn] nufpg] ;jf/L ;fwg s/ 
^= ;jf/L ;fwg s/ 

 s= ;jf/L btf{ tyf jflif{s ;jf/L s/ k|b]z ;/sf/n] ;+sng u/L 
afF8kmfF6 ug]{ 

cg';"rL – & 
-bkmf * ;FFu ;DalGwt_ 

ufpFkflnsfn] nufpg] lj1fkg s/ 
7= lj1fkg tyf kl/ro kf6L -ufpFkflnsfn] lgif]w gu/]sf] If]qdf_ 

 &=! h'g;'s} :yfgdf Joj;fo /fvL ufpFkflnsf 
If]qdf lj1fkg Aofg/, ˆnfS; tyf c:yfoL 
;fdfgsf] k|of]u  

k|lt ju{ lkm6 20.00 

 &=@ h'g;'s} :yfgdf Joj;fo /fvL uf=kf= If]qdf 
kl/ro kf6L /fv]sf]  

k|lt ju{ lkm6  
15.00 
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 &=# h'g;'s} :yfgdf Joj;fo /fvL uf=kf= If]qdf 
lj1fkg Jofg/, ̂ nfS; tyf c:yfoL ;fdfg @ 
ld6/ eGbf j9Lsf] k|of]u  

k|lt ju{ lkm6  
10.00 

cg';"rL – * 
-bkmf ( ;+Fu ;DalGwt_ 

ufpFkflnsfn] nufpg] dgf]/~hg s/ 
8= dgf]/~hg s/ 
 8=1 ;s{; hfb' b]vfP afkt k|lt lbg 1,000.00 
 8=2 Joj;flos le8Lof] s/ k|ltjif{ 1,000.00 
 8=3 lyP6/ ;+uLt xn k|ltjif{ 1,000.00 
 8=4 ;+f:s[lts k|b{zg xn k|ltjif{ 1,000.00 
  8=5 l;g]df xn ;~rfng jflif{s k|ltjif{ 10,000.00 
 8=6 cGo k|ltjif{ 1,000.00 

 

cg';"rL – ( 
-bkmf !) ;+Fu ;DalGwt_ 

ufpFkflnsfn] nufpg] axfn lj6f}/L z'Ns 
9= axfn lj6f}/L z'Ns 

  9=1 uf=kf If]qleqsf ;fj{hlgs :yn, P]nfgL 
hUuf jf jf6f]sf] 5]pdf c:yfoL Joj;fo 
ug{ lbPjfkt jflif{s lj6f}/L s/ 

k|lt ju{ 
lkm6 

5.00 

  9=2 P]nfgL hUuf jf jf6f]sf] 5]pdf v]tLkftL 
u/] jfkt v]tsf] jflif{s  

k|lt /f]kgL 1,000.00 

  9=3  P]nfgL hUuf jf jf6f]sf] 5]pdf v]tLkftL 
u/] jfkt jf/Lsf 

k|lt /f]kgL 500.00 

cg';"rL – !) 
-bkmf !! ;F+u ;DalGwt_ 

ufpFkflnsfn] nufpg] kfls{ª z'Ns 
10= kfls{Ë z'Ns 
  10=1 a; l6«k/ sf/ Eofg k|lt 3G6f 40.00 
  10=2 df]6/;fOsn k|lt 3G6f 20.00 

cg';"rL – !! 
-bkmf !@ ;+Fu ;DalGwt_ 

ufpFkflnsfn] nufpg] 6«]lsª z'Ns 
11= 6«]lsª z'Ns 
  11=1 6«]lsËdf hfg]sf] nflu  k|lt 10 

lbg 
3,000.00 
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cg';"rL – !@ 
-bkmf !# ;+Fu ;DalGwt_ 

ufpFkflnsfn] nufpg] ;]jf z'Ns, b:t'/ 
!@= ufpFkflnsfn] nufpg] ;]jf z'Ns, b:t'/ 
12=1 ;fj{hlgs ;'ljwf pkof]u ;]jf z'Ns 
12=1=1 zf}rfno k|of]u z'Ns 
  s= lb;f k6s] 10.00 
  v= lk;fa k6s] 5.00 
  u= :gfg k6s] 20.00 

12=1=2 ;/;kmfO{ tyf kmf]x/d}nf Joj:yfkg z'Ns 
  s= xf]6]n Joj;fo 
  1= æsÆ ju{sf] nflu jflif{s 6,000.00 
  2= ævÆ ju{sf] nflu jflif{s 4,800.00 
  3= æuÆ ju{sf] nflu jflif{s 3,600.00 
  4= ;fgf xf]6]n /]i6'/fF / u]i6 xfp; vfgf;lxt jflif{s 1,500.00 
  5= ;fgf hnkfgu[x, vfhf3/ jflif{s 1,000.00 
  6= dlb/f ;lxt ePdf yk jflif{s 500.00 
  v= t/sf/L tyf kmnkm'n k;n jflif{s 1,500.00 
  u= c:ktfn / gl;{Ë xf]d 
  1= d'Vo ahf/ s]Gb|df cjl:yt jflif{s 24,000.00 
  2= ;f] afx]ssf] :yfgdf cjl:yt jflif{s 12,000.00 
  #= lzIf0f ;+:yf 
  1= ljZjljBfno jflif{s 24,000.00 
  2= SofDk; jflif{s 3,600.00 
  3= dflj÷pRr dflj jflif{s 3,600.00 
  4= cGo lghL ljBfnosf] nflu jflif{s 2,400.00 

 ~= cGo If]qx? 
  1= ;/sf/L tyf u}/;/sf/L sfof{nox? jflif{s 3,600.00 
  2= cGo 3/ tyf uf]bfdx? jflif{s 6,000.00 
  3= k;n tyf pBf]u jflif{s 1,500.00 
  4= O{n]lS6«sn k;n jflif{s 600.00 
  5= 5fkfvfgf jflif{s 600.00 
  6= ;~rf/ ;DaGwL Joj;fo jflif{s 360.00 
  7= Ao"6L kfn{/ / ;}n'g jflif{s 600.00 
  8= kmf]6f] :6'l8of] jflif{s 600.00 
  9= xf8{j]o/ k;n jflif{s 1,200.00 
  10= lsr]g ;fdfu|L ljqm]tf -efF8fs'F8f_ jflif{s 600.00 
  11= kmlg{r/ ljqm]tf jflif{s 600.00 
  12= sfi7 pBf]u jflif{s 600.00 
  13= s'6fgL, lk;fgL / k]nfgL ldn  jflif{s 600.00 
  14= /]l8d]8 sk8f k;n jflif{s 600.00 
  15= :6]zg/L k;n -d;nGb_ jflif{s 600.00 
  16= h'Qf rKkn k;n jflif{s 600.00 
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  17= h'Qf l;nfpFg] k;n jflif{s 600.00 
  18= 5fqaf; jflif{s 6,000.00 
  19= ls/fgf k;n jflif{s 1,000.00 
  20= df5f÷df;' k;n jflif{s 1,200.00 
  21= df]6/;fO{sn÷;fO{sn js{;k jflif{s 2,400.00 
  r= kf]N <̂L kmd{ 
   1= j:tL glhs !)) ld6/ leq jflif{s 6,000.00 
   2= j:tL glhs !)) ld6/ jflx/ jflif{s 3,600.00 
  %= 6]nl/Ë  jflif{s 600.00 
  h= cf}ifwL k;n jflif{s 1,200.00 
  em= >[ª\uf/ ÷r'/f k;n jflif{s 1,200.00 
  `f= cGo Joj;fo  jflif{s 1,200.00 
12=1=3 cGo ;'ljwf z'Nsx?   
  s= ;fj{hlgs ;8s aQL ;]jf z'Ns jflif{s 50.00 
  v= ljkb\ Joj:yfkg ;]jf z'Ns jflif{s 25.00 
  u= l8lh6n gfkL ;]jf z'Ns 
  1= zx/L If]q k|lt lsQf jflif{s 100.00 
  2= u|fld0f If]q k|lt lsQf jflif{s 25.00 
  #= ljB't 6]nLkmf]g kf]n z'Ns -k|lt kf]n_ jflif{s 100.00 
 ~= ljB't 6«fG;km/d/ z'Ns -k|lt kf]n_ jflif{s 100.00 
 r= 6]lnkmf]g kf]n z'Ns -k|lt kf]n_ jflif{s 100.00 
  %= b"/;~rf/ 6fj/ jflif{s 12,000.00 
  h= Pkm= Pd= ÷ ;~rf/ 6fj/ jflif{s 6,000.00 
  em= 6]lnlehg 6fj/ jflif{s 12,000.00 
12=1=4 crn ;DklQ d"Nof+sg ;]jf z'Ns 

  s= ? ! nfv b]lv !) nfv;Dd k6s 200.00 
  v= ? !) nfv ! b]lv @) nfv;Dd k6s 400.00 
  u= ? @) nfv ! b]lv #) nfv;Dd k6s 1,500.00 
  #= ? #) nfv ! b]lv %) nfv;Dd k6s 3,000.00 
  ~= ? %) nfv ! b]lv ! s/f]8;Dd k6s 7,000.00 
  r= ? ! s/f]8 ! b]lv % s/f]8;Dd k6s 10,000.00 
  %= ? % s/f]8 ! eGbf dfly yk !) nfvdf k6s 200.00 
12=1=5 btf{ / gljs/)f b:t'/ 
  s= JolQmut #^gf btf{  
  1= k|df0fkq b:t'/ -#^ lbg b]lv ! jif{ ;Dd_ k6s 100.00 
  2= ! jif{ gf3]df hl/jfgf k6s 50.00 
  3= k|df0fkqsf] k|ltlnkL  k6s 200.00 

12=1=6 gS;f kf; b:t'/ -gof¤ tyf k'/fgf]_ 
  s= ;'lv{r'gf hf]8fO{ k6s 2,000.00 
  v= df6f] hf]8fO{ sRrL 3/ k6s 500.00 
  u= ;fljs jdf]lhd ejg tyf 3/ dd{t 

:jLs[lt 
k6s 500.00 
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  #= c:yfoL 6x/f ;fwf/0f  k|lt ju{ 
lkm6 

1.00 

  ~= c:yfoL 6x/f xf]6]n pBf]u cflb k|lt ju{ 
lkm6 

2.00 

  r= df6f] hf]8fO{ kSsL 3/ k|lt ju{ 
lkm6 

2.00 

  %= l;d]G6 hf]8fO{sf] kSsL 3/ e"O{ tnf k|lt ju{ 
lkm6 

2.00 

  h= l;d]G6 hf]8fO{sf] kSsL 3/ klxnf] tnf b]lv 
dfly 

k|lt ju{ 
lkm6 

3.00 

  em= xf]6]n Joj;fo / ;lkË sDKn]S;sf] nflu k|lt ju{ 
lkm6 

8.00 

  `f= lgdf{0f eO{;s]sf] 3/sf] kl5 gS;f kf; ubf{ 
dfkb08leq /x]5 eg] lgoldt b:t'/sf] 
cnjf yk 

k|lt ju{ 
lkm6 

 
2.00 

  ^= sDkfp08 jfn l;d]G6 hf]8fO{  k|lt ju{ 
lkm6 

2.00 

  &= sDkfp08 jfn df6f] hf]8fO{  k|lt ju{ 
lkm6 

1.00 

  *= uf= kf= x'g' cufj} lgdf{0f ePsf] 3/df tNnf 
yk ubf{ klxnf] lgdf{0f eP hlt 3/sf] xsdf 
k|dfl0ft b:t'/  

k|lt ju{ 
lkm6 

 
2.00 

  (= gS;f gfd;f/L b:t'/ k|lt ju{ 
lkm6 

5.00 

  )f= 3/ lgdf{0f ;/;kmfO{ w/f}6L k|lt ju{ 
lkm6 

5,000.00 

12=1=7 l;kmfl/; tyf aS;f}gL b:t'/ 
  s= ;fdfGo l;kmfl/;x? 
  1= gfd y/ ;+zf]wg l;kmfl/; uf]6f 200.00 
  2= g]kfnL gful/stf k|df0fkq -j+zh_ 

l;kmfl/; 
uf]6f 100.00 

  3= g]kfnL gful/Qmf k|df0fkq  -ljjflxt 
c+lus[t / c+lus[t_ l;kmfl/; 

uf]6f 500.00 

  4= j}b]lzs k|of]hgfy{ gftf k|dfl0ft uf]6f 300.00 
  5= ;fwf/0f ljljw l;kmfl/; uf]6f 100.00 
  6= tLg k':t] kmf]6f] 6fF; l;kmfl/; uf]6f 200.00 
  7= c;xfo / ckf+u, b}lj k|sf]]k 5fqj[lQsf] 

l;kmfl/; 
uf]6f 0 

 8= 3/ sfod l;kmfl/; b:t'/ uf]6f 300.00 
  v= hUuf gfd;f/L l;kmfl/; 
  1= xsbf/ -% /f]kgL ;Dd_ k6s 500.00 
  2= xsbf/ -% b]vL !) /f]kgL ;Dd_ k6s 750.00 
  3= xsbf/ -!) b]vL @) /f]kgL ;Dd_ k6s 1000.00 
  4= xsbf/ -@) /f]kgL eGbf dfly_ k6s 1500.00 
  5= as;kq -% /f]kgL ;Dd_ k6s 500.00 
  6 as;kq -% b]vL !) /f]kgL ;Dd_ k6s 750.00 
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  7= as;kq -!) b]vL @) /f]kgL ;Dd_ k6s 1000.00 
  8= as;kq -@) /f]kgL eGbf dfly_ k6s 1500.00 
  9= ck'tfnL -% /f]kgL ;Dd_ k6s 750.00 
  10= ck'tfnL -% b]vL !) /f]kgL ;Dd_ k6s 1000.00 
  11= ck'tfnL -!) b]vL @) /f]kgL ;Dd_ k6s 1500.00 
  12= ck'tfnL -@) /f]kgL eGbf dfly_ k6s 2000.00 
  u= pBf]u btf{ l;kmfl/; 
  1= ?= bznfv ;Dd k"FhL nufgL x'g]df k6s 2500.00 
  2= To;kl5 k|lt bznfvdf yk k6s 500.00 
  3= l8n/l;k l;kmfl/; k6s 500.00 
  #= wf/f lah'nL h8fg l;kmfl/; b:t'/ 
  1= wf/f lah'nL h8fg l;kmfl/; k6s 100.00 
  2= wf/f lah'nL gfd;f/L l;kmfl/; k6s 200.00 
  ~= 3/ Ans  gDa/  b:t'/ 
  1= 3/ Ans gDa/ -gofF_ k6s 100.00 
  2= 3/ Ans gDa/ gfd;f/L  k6s 150.00 
  r= jflif{s cfDbfgL k|dfl0ft b:t'/ -s'n d'Nof+sg /sdsf] cfwf/df_ 
  1= j}b]lzs /f]huf/ jf cWoogdf hfg] gful/s 

jf lghsf] kl/jf/ 
k|ltxhf/ 0.25 

  2= s[lif k|of]hgsf] nflu k|ltxhf/ 0.10 
  3= Jofkfl/s k|of]hgsf] nflu k|ltxhf/ 0.15 
  %= 3/ af6f] ÷ rf/ lsNnf k|dfl0ft b:t'/  
  1= 3/ af6f] l;kmfl/;  k6s 5,00.00 
  2= rf/ lsNnf k|dfl0ft  k6s 5,00.00 
12=1=8 gftf, hGd tyf cGo k|dfl)ft b:t'/ 
  s= gftf k|dfl0ft  k6s 100.00 
  v= hGd k|dfl0ft k6s 100.00 
  u= s/ r'Qmf k|dfl0ft k6s 200.00 
  #= ljjflxt÷cljjflxt k|dfl0ft  k6s 300.00 
  ~= b'j} Ps} ePsf] k|dfl0ft k6s 200.00 
12=1=9 cGo laqmL 
  s= lgj]bg kmf/d uf]6f 10.00 
  v= gftf k|dfl0ft lgj]bg kmf/d uf]6f 10.00 
  u= gful/stf kmf/d uf]6f 10.00 
  #= gS;f btf{ lstfj uf]6f 1,000.00 
12=1=10 ljnDa z'Ns 

  s= Joj;fo s/ k|To]s jif{ ga'emfPafkt 
hl/jfgf  

jflif{s 25 

  v= 3/hUuf s/ k|To]s jif{ ga'emfPafkt 
hl/jfgf  

jflif{s 25 

  u= dfnkf]t rfn' cf=j= leq ga'emfPdf jflif{s 25 
#= dfly pNn]lvt s/ afx]ssf xsdf ;dodf 

s/ ga'emfPdf . 
jflif{s 50 
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12=1=11 ;fj{hlgs :yfgdf lgdf{0f ;fdfu|L y'kf/]afkt 
  s= b}lgs nfUg] z'Ns lbg 100.00 
  v= cGoyf ePdf hl/jfgf lbg 100.00 

12=1=12 lgif]lwt :yfgdf ef/L ;jf/L ;fwg k|j]z u/]afkt  

  s= klxnf] k6s  k6s 500.00 
  v= bf]>f] k6s k6s 5,000.00 
  u= b'O{ eGbf j9L k6ssf] k|lt k6s k6s 10,000.00 

cg';"rL – !# 
-bkmf !$ ;F+u ;DalGwt_ 

ufpFkflnsfn] nufpg] ko{6g z'Ns 
13= ko{6g z'Ns 

 s= ljb]zL ko{6s k6s 50.00 
 v= cfGtl/s ko{6s k6s 20.00 

cg';"rL –!$ 
-bkmf !% ;F+u ;DalGwt_ 

ufpFkflnsfn] nufpg] vfgLhGo j:t'sf] ;+sng tyf lgsf;L s/ 

qm=;+
= 

afkt dfn;fdfgsf] ljj/0f OsfO{ b/ 

s= ;+sng,  
-lalqm_ 

/f]8f, lu§L k|lt 3g lkm6 3.00 
df6f] k|lt 3g lkm6 2.00 
9'+uf, u|fe]n, lrK; / a];  k|lt 3g lkm6 2.00 
:n]6 k|lt 3g lkm6 2.00 
afn'jf k|lt 3g lkm6 3.00 

v= lgsf;L /f]8f,9'+uf,lu§L / u|fe]n, lrK; 
/ a]; 

k|lt 3g lkm6 3.00 

df6f] k|lt 3g lkm6 2.00 
:n]6 k|lt 3g lkm6 2.00 
afn'jf k|lt 3g lkm6 3.00 
;fn, l;;f} uf]lnof lr/fg k|lt 6«s 500.00 
cGo sf7 uf]lnof lr/fg k|lt 6«s÷ldlg 200.00 

 
k'gZr M 

 ;+3Lo tyf k|b]z sfg"gaf6 kl/dfh{gsf] nflu lgb]{zg ePdf jf kl/dfh{g eO{ cfPdf ;f] 
adf]lhd pNn]lvt s/ tyf z'Nssf b/x? ;dfof]hg ug{ ;lsg]5 .  

 o; P]gdf 5'6 x'g uPsf s'g} ljifoj:t' tyf s/sf b/x? ;+3Lo, k|b]z tyf cGo k|rlnt 
sfg"g adf]lhd x'g]5 .  

 

cf1fn], 
s[i0fk|;fb ;fksf]6f 
k|d'v k|zf;sLo clws[t 


